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ArRITHMETIC (Q 1, PAPER 1)

LessoN No. 9: ScienTiIFiIc NOTATION

2001
1 (b) (i) Calculate the value of
3.1x10° -1.5x10*

5.9x10°
and write your answer as a decimal number.

SOLUTION

5 4
1 (b) (i) 320 =L5X10 5 55 [Use calculator]

5.9x10°

3.1x10° -1.5x10*
5.9x10°

CaLcuLaToRr: Calculate

(=YX3 ] |
5 4

- & & A

OO o 0.05

1996
1 (c) (i) Calculate the value of
5.1x10° +19x10’
1.4x10%
and write your answer as a decimal number.

SOLUTION

8 7
1(c) (i) S0 +19x10° _ 5 10+ ~0.0005 [Use calculator]

1.4x10%

5.1x10° +19x10’
1.4x10%

CaLcuLAaTOR: Calculate

5.1x10° +19x10’
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The answer given on the calculator is given as 5x10~. To change this number into a

decimal number, move the decimal point 4 places to the left.




